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1. Complete the calculation

47 -25 = (.

You must show your workings out.

47

40 7

25

25

20

47

GlOES(O)

given - sign (9)

SRS Learning Limited




teach-learn

given - sign (9)

timelypractice.com

2. Complete the calculation

98 - 42 = ...

You must show your workings out.

98

90 8

42

42

40

98

GlOES(O)

given - sign (9)

SRS Learning Limited




teach-learn

given - sign (9)

timelypractice.com

3. Complete the calculation

68 - 28 = ...l

You must show your workings out.

68

60 8

28

28

20

68
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4. Complete the calculation

99 -24 = ...

You must show your workings out.

29

50 9

24

24

20

59
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Answers

1. 22
2. 56
3. 40

4. 35
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